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5HYLQQD� 2UQHOD� .DUWLQL�� 1,0� ��������������� 3HPELQDDQ� 6LNDS�

7ROHUDQVL�%HUDJDPD�6LVZD�'L�6'�0DQMXVKUL�

3DGDQJ�

3HQHOLWLDQ� LQL� GLODWDU� EHODNDQJL� ROHK� NHEHUDJDPDQ� DJDPD� \DQJ� DGD� GL�

<D\DVDQ�%XGKD��$NDQ�WHWDSL�NHEHUDJDPDQ�DJDPD�WLGDN�PHQLPEXONDQ�NRQIOLN��

3HQHOLWLDQ� LQL� EHUWXMXDQ� � XQWXN�� SHUWDPD�� DSD� EHQWXN�EHQWXN� VLNDS� WROHUDQVL�

EHUDJDPD� VLVZD� GL� 6'� 0DQMXVKUL� 3DGDQJ�� NHGXD�� EDJDLPDQD� VWUDWHJL� JXUX�

GDODP�SHPELQDDQ�VLNDS�WROHUDQVL�EHUDJDPD�VLVZD�

-HQLV�SHQHOLWLDQ� LQL� DGDODK�SHQHOLWLDQ�NXDOLWDWLI� GHQJDQ�PHWRGH�GHVNULSWLI��

,QIRUPDQ� SHQHOLWLDQ� DGD� WXMXK� EHODV� RUDQJ� \DQJ� GLWHQWXNDQ� GHQJDQ� FDUD�

SXUSRVLYH� VDPSOLQJ NHSDGD� JXUX� GDQ� VLVZD� WHUXWDPD� JXUX�JXUX� GDQ� VLVZD�

VLVZD�\DQJ�EHUEHGD�DJDPD��'DWD�GLNXPSXONDQ�PHODOXL�REVHUYDVL��ZDZDQFDUD�

GDQ�VWXGL�GRNXPHQWDVL��8ML�NHDEVDKDQ�GDWD�DGDODK� WHNQLN� WULDQJXODVL�VXPEHU�

GDQ�WULDQJXODVL�PHWRGH��$QDOLVLV�GDWD�GLODNXNDQ�GHQJDQ�WDKDSDQ�UHGXNVL�GDWD��

GDWD�GLVSOD\��GDQ�PHQJDPELO�NHVLPSXODQ�YHULILNDVL��

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� WROHUDQVL� EHUDJDPD� GLDQWDUD� VLVZD�

EHUMDODQ� GHQJDQ� EDLN�� %HQWXN�EHQWXN� VLNDS� WROHUDQVL� EHUDJDPD� GL� 6'�

0DQMXVKUL�3DGDQJ� WHUOLKDW�SDGD�VLNDS� WLGDN�PHPDNVDNDQ�VDWX�DJDPD�NHSDGD�

RUDQJ� ODLQ�� WLGDN� PHPXVXKL� RUDQJ� \DQJ� EHUEHGD� DJDPD�� KLGXS� UXNXQ� GDQ�

GDPDL� VHVDPD�PDQXVLD��6WUDWHJL� GDODP�SHPELQDDQ� VLNDS� WROHUDQVL� EHUDJDPD�

GL� 6'�0DQMXVKUL� PHODOXL� SHPEHULDQ� WHODGDQ�� NHJLDWDQ� VHNRODK� \DQJ� WHUGLUL�

GDUL NHJLDWDQ�HNVWUDNXULNXOHU�GDQ�NHJLDWDQ�NHDJDPDDQ��

.DWD�NXQFL��3HPELQDDQ��7ROHUDQVL�EHUDJDPD��<D\DVDQ�%XGKD�


